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.‘ Let f(x)=x"-25,and g(x)=x-5.
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2. Let f(x)=x*-5x—8,and g(x)=—x.
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3. Let f(x)=6x+10,and g(x)=3x>+x-10.
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Evaluate the indicate function, where f(x)=x" =3x+2 and g(x)=2x-4.
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Evaluate the indicate function, where /(x) =2 3x+2 and g(x)=2x-4.
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12. If f(x)=3x-7and g(x)=x+10, find the domain of f+g f—g, /g,
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13. If f(x)=x"-9and g(x)=+x-2, find the domain of f+g f-g, fg,
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14. . If f(x)= Vx+13 and g(x) =x*-36, find the domain of f+g, f—g. fo, L v Xr13
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5. If f(x)=2x-Tand g(x)=3x+2
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16. If f(x)=x’+4x—1land g(x)=x+2
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2,find (fog)x) and (go f)(x) for the given functions
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(ﬂ If f(x)=+x+4and s,(\):l find (/o g)(x) and (go f)(x) for the given functions.
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Evaluate each composition function, where f(x)=2x+3, g(x)=x"-5x, and h(x)=4-3x".
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